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Introduction
This WF covers the following issues from Topic #7 in the Email discussion summary for [101-e][129] NR_ext_to_71GHz_Part_2 [R4-2119929]:
1. Beam direction-only switching time assumption
2. ON/ON transient time for 480/960 SCS
3. Response LS to RAN1
Beam direction-only switching time assumption
-	Proposals:
-	Option 1: 200 nsec for all SCS (Huawei, vivo, Apple, MediaTek, Qualcomm, OPPO)
-	Option 2: 50 nsec for all SCS (Nokia, Ericsson)
-	Option 3: 200 ns is too long, this requires more discussion (Ericsson)
-	Recommended WF by Moderator in the first round:
-	Option 1
-	Tentative agreement based on majority view:
-	Option 1 (200 nsec for all SCS)
NOTE: no agreement was reached on this topic



ON/ON transient time for 480/960 SCS
-	Proposals:
-	Option 1: Specify 1,2,3 usec capability for 480/960 SCS ON/ON (Ericsson [preferred], IDC, Intel, AT&T)
-	Option 2: 5us as in FR2-1 with no capability specified (OPPO, Ericsson, Huawei, Apple [preferred], MediaTek, Qualcomm, Nokia [can accept], vivo)
-	Option 3: 2 usec with no capability specified (Ericsson [preferred], Nokia, IDC, Intel, AT&T)
-	Option 4: Further study reduced ON/ON time (vivo, Apple)
-	Recommendations for 2nd round: further discuss in WF on timing issues. Further discuss Apple 7976 and Ericsson 8265 in WF:
-	Agreement:
-	5 µs is specified for ON/ON transient time for 480/960 SCS and, additionally:
-	Alt 1: RAN4 to evaluate potential gains with shorter ON/ON time and, if found necessary, specify 1,2,3 µs capability for 480/960 SCS ON/ON









Response LS to RAN1
Agreement:
-	Option 2: R4-2118265 (Ericsson)
	1. Reply:

Question: Switching from DL to UL and Switching from UL to DL 
A switch time of 7 µs (13792 Tc) can be assumed, for UE and BS, for the switching from DL to UL and switching from UL to DL.

2. Actions:
To RAN1: 	RAN4 would like to kindly ask RAN1 to use the above information as partial reply of LS.












